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Python

print "O0OOO Python O !
print "Python QOO OOQOQOO!M"

cudg

#include <stdio.h>

int main(void)

{

O printf("O000 COOO '\n");

O printf("CO0O0D0O0ODOOOON\n";
U return O;

}

0000000000000 0oooooooodPythonD OO0
gogobobbooooboboboooooo
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1.; 0000000
PythonODOODOODOOOOOOOOOOOOOODOODO;000
goboboogobbobooooboboogn
2. {00000
googbo.oboobboboobobobobuoobboon
gobobooobobbuoooobbuooobooboog
3. C U 00O O#include <stdio.h>0 D OO0 D OODO) O
int main(void)Omain() 00000 OO O )return 0;0 main()
00000000)00000000PythonO0 OO OO OOOO

000000 PythonO COODODOODOODODODODOODO
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O PythonO print 00000000 0O00COODOO printf000
0000 PythonOO print OO0 0000000 0ODODOOOOCOOO
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ODo0o000DoDO0ooDoDOooooocCcOoDOoooOonDOooOoO\nODOO
00o0000ooo0oO PythonOOOOODOOOOODOODOOOOO
000000000000 0o000o0o000oo0oDooDgnPython d
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Python
print "%sOOOOOO"™ % ("A™)

ooooboboOoboboobuooboobUt print OO OOOOODOO
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Python

print "(sOOOODOO"™ % ("A"),
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olijooooooogoo

int main(void)

{

U return O;

}

#include <stdio.h>

Python
print "4s000000" % ("A")
print "yd000000O" % (123)
print "Jf000000O" % (10.5)

cog

O printf("%c 000000 \n", ’A%);
O printf("%d 000000 \n", 123);
O printf("%£f 000000 \n", 10.5);
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000000000 o0o0ooooDoUoooo%en0OnO)0OOO
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Python
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chg
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o3 boooooon

boobooboobodbdadand
Python

print "OODOOODO 8000 101 : %s" % ("\101")
print "ODO0OOO0O 16000 61 @ %sO"™ % ("\x61")

con

#include <stdio.h>

int main(void)

{

O printf("000000 8000 101 : %c\n", ’\101’);
O printf("000000 16000 61 : %c\n", ’\x61’);
[0 return O;

}

0000000000 00o00PythonO COODOODOOOOOO
goooobbbobbboooogoo

040000000

cOo0UdoO0OOU0OOU0OoDUOOoOOoOoDOooDCcUbooooo11o0Oo00
0000000000000000000Ostring literal) 00O0O0CO
000OoOoOooooOoOoooOo’’ocooo”ooooboooooo

uboobobodobooboboobod
sample4.py

"Hello"
"Goodbye"
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Python

a=3

print "OO a0OO0O0", a, "OOQ"

con

#include <stdio.h>

int main(void)

{

O int num;

O num = 3;

O printf("00 num OO0 %d 000 \n", num);
[0 return O;

}

0000000000 COO0DD00D0D0D00000 int0000 num
000000000 bobD0o0obOnumd 3000000000DODO0O
Python DO DOODOO0OO0OODOODOOODOODODODODODO
ggoboboooobbbooobbbooobobbuoooobboo
O0num0d 300000000000O0OOOODOO
goboboboooouobbboooom=00b0o0ooooon
gobbibodide Do DO boooonobombog
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g

int num;
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num = 3;

00o0ob0oboobDoobo0obobDooD 10boboobobooon
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000000 Oinitialization) 00 0000000000000 0O0OO

gogooood
u

int num = 3;
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O000O0DOO0ODOO0DO0oo00oO0obO0obOU0ooboOobDPythonO0OOonOOd
OO0 COooooonoDoDOooOoooooUoooooooooooog
00000000000 OdO0PythenOOOOOOOODOOOOO 20
ggoboboooobobboooobobbooobobbouooooobooboo
ggoboboooobbboooobobboooobobobouooooobooboo
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gogobobooooboboodon

00000000 1obooboobobooobo

goboobbbboooooooooooobobbbboooogo
goobbboooobobbooouoboboo

Python
a=3

print "OO aOOO",a ,"O0O0O"
a=>5

print "OO aOOOOOOOOOON
print "OO a0 OOgo",a ,"0oo"

cho

#include <stdio.h>

int main(void)

int num;

num = 3;

printf("U0 num 000 %d 000 \n", num); O...0

num = 5; ...

printf ("0 0 num 0000000000 \");

printf ("0 0 num 000000 %d000\n", num); O...0

return O;

Y O 0o 0o oo ogog &~

oboobobobDo0d0 num 0 300000000DO0O0OO0OOO
00000O00o0ob0obDo0bO0o0oboboDo0obOoDoO sb00booon
goooobbbbbooooooououooobbobbbboooooo
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gogoboboooobbboooobbooon
gooboboooobbooooobb nom0ooooboogn
oooboooobsboooobboobobuooobbbooooo
ggobbboooobbtbooobbbooobbbuoooobboo
gogobobooogooo
ggobobooooobobooooboboooobobbooooooo
ggobboooobobooooobobod
OO000C0OPythonD COOOOOOOOODODOOODOOOODOO
ggobbbooooboobuoooooboooooo
ggoboboooobbboooobobooon
obobobOobo=0000000b00Db0ODb0O30s5000000
gooboooooooo

guoobooboooogboo
Python

numl = 3

print "UU num1 000" ,numl,"O000O"

num2 = numl

print "UD num1 O0000 num2 0 000O0O00OO0O"
print "UUO num2 000" ,num2,"000O"

cudg

#include <stdio.h>
int main(void)

{

[0 int numl, num2;

[ numl = 3;

O printf("00 num1 000 %d 00 0 \n", numl);
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U num2 = numil;

O printf("O0 num1 OO0 000 num2 00000000 \n");
O printf("00 num2 000 %d 00 0O \n", num?2);

U return O;

}

00oob=0000000b0000b000D numl DO0ODOOO
o000 num200MM0 00 numl OOO0ODOO0OOOODOO
ogn

0000000000000 num2000 numl OO0O0OO 300
ggoboboooobbboooobobboooobobbuooooooboo
gogobbooooboboooobobod

0000 PythonO COODODDODOODOODOODODOOOOOO
0000oboooobDooboDoub0fd numl 00000 num?2
ggobboboooobbbooobobbuoooobbooo

goobobboooobobbuoooobboooobbboooobo

gbooboboobooobon
Python

num = 3.14
print "O0O num OO0 %d000" % (num)

cudg

#include <stdio.h>
int main(void)
{

[J int num;

0 num = 3.14;
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O printf("00 num O 00 %d 00 O \n", num);
U return O;

3

0000000 numO03.1400000000000000000OO
00bo0ob0o0ob0oob3booboboobuoob00bD0oUnint
dddddtd num0OoOoOoooooooooogooooooa
goooog

ggoboboboooooobuooooobooooboboobooooooo
ggoboboooobbboooobobooobobobuooooobooboo
gogoboboboogoboobuoooooboooobbooooooo

ggobbbooogboooboodan

oshOooooooooo
Python

sum = 1 + 2
print "1+20",sum,"000"
suml = 3 * 4

print "3x 40",suml,"O0O0O"

chg

#include <stdio.h>

int main(void)

{

O printf("1+20 %d 000 \n", 1+2);
O printf("3x 40 %d 000 \n", 3%4);

0 return O;
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odoo0oboooobobooooboboooobobooogooD
Python 00 00000000000D0DODO print 0000DODODODO
DODoCOO0O0 printf 000000000 DODOODOODOOOOOO
ogn

OOoOodooboboooboboobobboobobooobobooon

020000000000000000
Python

2
3

numl

num?2
sum = numl + num?2

print "OO num1 000 %d 000 \n" % (numl)
print "O0O num2 000 %d 000 \n" % (num2)
print "numil+num2 000 %d 000 \n" % (sum)
numl = numl + 1

print "OD num1 OO0 10000 %dO000\n" % (numl)

con

#include <stdio.h>

int main(void)

int numl 2;
int num2 = 3;
int sum = numl + num?2;

printf("U0 num1 OO0 %d 000 \n", numl);

O O O o g ™

printf("0O0 num2 000 %d 000 \n", num2);
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O printf("numl + num2 000 %d 000 \n", sum);
[0 numl = numl + 1;
O printf("O00 num1 000 10000 %d 000 \n", numl);

O return O;

}

gboboogdooobbooobboobobooobbooobboo
000000 PythonO COODODOODOOOOODOOOODOODOO
ggooooogooooooooodooouooooooooooo
ggoboboooobbboooobobbooobobobuooooobooboo
ggoboboooobbboooobobboooobbbuooooooboo
000000000000 PythonO COODOOOOOOO

goboOoooOOoOooooOoOoDoboOooD
Python

sum = O;

num = 0;

sum = raw_input("1000000000O00O00OOOO™)
suml = raw_input("200000000000O00O0OO™
sum2 = raw_input("30000000000000O00OM™

in_tax = int(sum) + int(suml) + int(sum2)

print ("30000000", in_tax,"O0OO")

chd

##include <stdio.h>
int main(void)

{
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int sum = O;

int num = O;

printf ("1 0000000000 O0O0O0ON\n";
scanf ("%d", &num);

sum = += num;
printf("200000000000000\n");
scanf ("%d", &num);

sum += num;

printf("30 0000000000000 N\n");
scanf ("%d", &num);

sum += num;

printf("3 0000000 %dO000\n", sum);

return O;

~ O 0O oooogoogogo oo o d

0 Python[

O000D00000rawinput 000000000000 ODOOO0O
0000000000000 000000000Orawdinput() 000
O0Orawinput() 000 0000000000000 OOCOOOOO
goooooboboboooooooooooooobobbouoooo
000000000000000000 int() 00D0OO0DDOODOOO
00 float() DODOOD

oCcoon

O0000000000000000O0O0scanf 000000000
scanf 00000000000 D0ODOOO0OO0OOOOOODOODOOOOO
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gooboboooooo

scanf 0 printf 000 0000000000000 ODOOOOOOO
O0O0printf 00 00000%d00000000000000O0scanf
O000000000&OUOO00OO0D000000Cprintf0000O0
0000000000000 00scanf 0 0&UIO000O0OOOOOO
scanf 00000000000 DOODOOODOOODOOOOOOOOOO
ggobobboooobobboooobobbooobobbuooooobooboo
O00D00DO0000000000DDO0ODO00O0Oscanf0dOOO
ggooboooooboooooo

glooooooooUooOoooooo)ood
COO0DD0DODOO00ODO0O0O00DO000O00DOOO0O0 Python

gogobobboooobbboooobboooobbbooooobo
ugooood

a++

++a

ggoboboooobbbooobbbooobobbuoooobboo
oboobobooboboooboboo 1goobbobobooboboooo
ggoboboooobbbooobbbooobobbuoooobooboo
gogobobooooooood

000 PythonOOOOOOOPythonOOOODO 41000000
ugn
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ol1ioooooogon
cOOoU0DOooOOoU0DOoOOoU0U0DODoODOUODODO0ODOOOUODDOO

0000()00000000000000000000DoO0o0oO
odn

inum = (int)dnum;

Python OO DOODOOOOODODOOODOOO
gooooooooooooo
Python OO O OO

int..000Ofloat...00O0O
ggono

inum = int (dnum)

012000000000)00000000000
Python

d = 2;

pi = 3.14;

print "O0OO %d000000" % (d)
print "O00 %£000000" % (d*pi)

con

#include <stdio.h>

int main(void)

{

O int d = 2;

U double pi = 3.14;

O printf("000 %d000000\n", d);

O printf("000 %£f000000\n", d*pi);
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U return O;

}

Python
numl = 5
num?2 = 4

div = numl / num2

print "5/40 %£ 000" % (div)

con

##include <stdio.h>

int main(void)

int numl, num2;

double div;

numl = 5;

num2 = 4;

div = numl / num2;

printf("5/4 0 %f 000 \n", div);

return O;

Y~ O O oo o goog &

goooooooooboboooobbbbbbbbbbobooobboon
gogobboooobobod

Python

div = float(numl) / float(num?2)
cong

div = (double)numl / (double)num?2;
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ggoboboooobbboooobbboooobbbuooon
0000000000000 float O doubleD ()DDO0OODOO
gooooono

01B0if0ooo

Python
if 0000 :
gooogogogg
elif OOOODODO :
googgogogdg
else:
googogoogogogg
con
if (00 1D{
O 1;
a 2;
}
else if (00O 2){
0 3;
0 4;
}
else if (00 3){
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elseq{

0000000000 OPythonOOOOODOOODODOODOOOOO
OOelif0000O0OO0OO0 COOOOOelseif00000O0O0O0OOO

ooocCcOo0oopooifddpodoooooooDOoooOooooooo
000000 switchOOOODOODOOOO

OO000switchO0O PythonOOOODO

O0DO0DOif.elif.elif.. 00000 elift0000000O

switchOOOOOO0OO0OO0O0O if.elif.. 0000000000

040 o0o00booooog
ggobobbooooooobuoogooboooobobobouoooooo
ggobobooooooooodan

goooo
&&l1 0 0
| 1000 0Python 00 or)
g

000 PythonO CODOOOOOOOOODODOOODO
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3 00O

00000000 Co000oopooooooooood PythonODO
ggoboboooobbboooobobboooobooodg
gobobooodobobooooboobboooobbboooooooboa
ggobobooooboobooboooooboooobboooon
00000 COOD0D0000ooo0000oooOoooDoooOoooon
ggoboboooobbboooobobboooobbbuooooooboo
goboooobooouoooobboobobbooobbooobboo
godoboboooobbbooobbbooobobbuoooobboo
gogobobooooboboooooboo

OO0D00OPythonOOODO texODOODOOODOO

000 PythonO tex 00000000000 DOOOOODOOOODO
ggoboboooobbboooobbboooobbbouooon
OO0O00000000000 PythonOOOODOOOODOOOOODO
OO0000O000O0O000ooO0oO PythonOOOODOOOODOOO
OO0000O000O0O00oo0ooooogO PythonOOOOOOOO
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